(AK52)智力測驗（98年3月19日五版）增補資料
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[image: image1.png](

(

D

D

NFFFREAEEK ? (A) 1 (B)2 (C)3 (D)
4 NF
[Ae4i]4:7—A 3%
_sl 4,
#% A= 32 X - 2
) 1 ESFEIE RN AENE A SRl d 3 [/ N IR AR
Ak - WIBHLA 3 Amdimii s A A ERk— XK BB R T
TEFTTRIR M » AL 4 /NI » 2576 6 /NFF - NEAE S

ANEF e — K (ERF EMMIERE SRR RIS

— Pk - QGRS 3

NFEAE 2 DR 52 B RAG AR 2

37 23 33 23
A) = B) 2== c) = D) 1= B3
()60 (B) 0 ()37 ()37 NS
1
[ %47 ] ‘?’%M\H?r%z
I
0% = N5 JE6
ﬂ%%fl\ﬁ%‘ik%
1 1 1 37
= A BN B B — - =
S ASEE] HT,\#JE4+6 +5 5
L. 160
¥ L 205
60
) B/ EEFE > BETF S R/ N EIR TR - itk
IE=F#2128 A HBHGHEEE - E2ER B Hik > HIEFE
BEE C H - HEMEEDS D H > ABRERLEEAR K
ZHE - HIESH/ N EAE —HFE T 8EH? (A)(B—A)
+ (D—-C) (B) (B—A) (D—C+1) (C) (B
A+1) + (D—-C) (D) (B—A+1) + (D—C+1)
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